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Choose the correct answer fr,
1. Cycloalkanes have same molec

a. Alkenes
c. Alkynes
Angle strain of cyclopropane is
a. 600

c. 24044

thch of the following compound_
. Aniline
¢. Benzylamine

All sigma-bond in benzene lies in ¢
a. 900
c. 1180

a. Conc. Nitric acid
¢. Bothaandb

Benzene reacts with chlorine in pr
a. Hexachlorobenzene
¢. Benzyl chloride

Phenol on distillation with zinc dua
a. Benzene

c. Phenylzinc

Which of the following is th&
a. Trichloroacetic acid
c. Acetic acid

In chlorination of benz
a. CI-
HCl
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in i; heory wi ‘,_ﬁ.iv examples

benzene.
Write the important

Define- a. phenol b. 1
polynuclear hydrocarbe

Write a note on effec!
of benzene.
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